[ normalized x? probability |

normalized X?

T
0 - as
g g
............................ I}
I == N D g
3 + a =
g0 ] o
2zl = <
=2 5 Y e N e R
' (@]
S
—— )= &
o
o
g =
ot vdpd v vdi bt oo pod v b v bbb bbb 1 T
WS MmN o N m § woa ol W © < N T o © g N O ) °9
[ I F B [ R o o o o °
1.1
(%)< d/de> oney <Jpu/X> oney

DQM_mkFit_TTNEWMS-genMatch-CUT2

s DQM_mkFit_TTNEWNoMS-genMatch-CUT2

o
3

by
R
EEE
2% 2
=
-
-~ -
.l_ .l_
i iT T
< <
m_ m_
= s>
[egeded
laffaffat

. . . . . . . . . . . . . . . - . . . . -

' NI NS S N e S i L 2] ' AT N NS N S e i L o IRERIRTETEAYTTI FRUTY RRUTE ARATYRUATI FRUTU AYRTH FATY Y P PP PP P RN

g ®w © ¥ N 70 © = ol © © ¥ o T o 93 =1 WS MmN T o TN o Y T g

“ d - - o o3 2 B I o o3 3 L = e S

<Jpu /X > oney <Jpu/X> oney (%) < ‘di'de > oney



	Contents
	Page 1


